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Seat No.: ________                                                        Enrolment No.___________ 

GUJARAT TECHNOLOGICAL UNIVERSITY 
Diploma Engineering - SEMESTER–III • EXAMINATION – WINTER • 2014 

Subject Code: 330601 Date: 27-11-2014        

Subject Name: Surveying - I 

Time: 10:30 am - 01:00 pm Total Marks: 70 
Instructions: 

1. Attempt all questions.  

2. Make suitable assumptions wherever necessary. 

3. Figures to the right indicate full marks.  

4. English version is considered to be Authentic. 

Q.1 (a) Define surveying and explain basic principles of surveying  07 

 (b) (i) Give the list of instruments required for chain and tape survey with  their 

uses. 

(ii) An area of 64 cm2 on the map represents 4096 m2 area on the  ground. Find out 

R.F. of the scale. 

03 

 

04 

    
Q.2 (a) The following readings were taken with dumpy level. 

1.055, 1.565, 1.875, 2.755, 1.070, 1.455, 2.125, 1.165, 0.275, 1.720, 1.320, 2.505. 

Level was shifted after 4th and 8th reading. Calculate the RLS of all points by rise and 

fall method. RL of Ist point was 100mtrs. Apply usual check. 

07 

 (b) Explain the following terms in leveling  

(i) Back Sight   (ii) Foresight   (iii) Bench Mark   

(iv) Reduced Level  (v) Datum   (vi) Change Point   

(vii) Station 

07 

  OR  

 (b) Describe the characteristics of contours. 07 

    
Q.3 (a) (i) Distinguish between Prismatic Compass and Surveyor’s Compass. 

(ii) Whole Circle Bearing and Reduced Bearing. 

04 

03 

 (b) The length of survey line was measured with 20m chain was found to be 840 m. The 

same line when measured with 30m chain was found to be 849m. The 20m chain was 

found to be 0.5 link too long. Find the true length of the 30m chain. 

07 

  OR  

Q.3 (a) Draw a neat  sketch of Prismatic Compass and label all parts and also state functions. 07 

 (b) Explain Indirect Ranging with sketch. 07 

    
Q.4 (a) (i) State methods of plane table survey. Explain anyone. 

(ii)  Explain the term Declination. 

05 

02 

  

(b) 

The following bearings were observed in running a closed traverse. Correct the 

bearing for local attraction. Find included angles of traverse. 

Line F.B B.B 

AB 1080-45’ 2890-30’ 

BC 10-00’ 1810-00’ 

CD 3030-15’ 1240-30’ 

DA 2260-30’ 440-30’ 
 

07 

   OR  

Q. 4 (a) Explain the methods of orientation in plane table survey. 07 

 (b) (i)  Explain the temporary adjustment of dumpy level. 

(ii)  Explain the temporary adjustment of Prismatic Compass. 

04 

03 

    
Q.5 (a) Explain the procedure to measure horizontal angle with a theodolite. 07 

 (b) (i)  State the functions of the following 04 
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 (1) Shifting Head  (2) Vertical Tangent Screw  

 (3) Clip Screw   (4) Telescope 

(ii)  Explain the term transit and non transist theodolite 

 

 

03 

  OR  

Q.5  Explain the following: 

(i) Uses of theodolite (ii) Obstacles in chaining 

(iii) Local Attraction (iv) uses of Contour Map 

14 

 

************ 

 

 

ગજુરાતી 
પ્રશ્ન. ૧ અ ;J[” GL jIFbIF ,BM VG[ ;J[“1F6GF 5FIFGF lGIDM ;DHFJMP 07 

 બ (i) ;F\S/ VG[ 8[5 ;J”[1F6 DF8[ H~ZL ;FWGMGL IFNL ,BMP NZ[SGF p5IMU ,BMP 

(ii)  GSXF p5ZG\] 64 cm2
 1F[+O/ HDLG p5ZG\\] 4096 m2 1F[+O/ NXF”J[ K[P TM 

T[GM lG~l5T  V5}6F”S  (R.F.)  S[8,M CX[ 

03 

04 

    પ્રશ્ન. ૨ અ 0d5L,[J,GL DNNYL GLR[GF JF\RGF\SM ,[JFDF\ VFJ[, K[P 

1.055, 1.565, 1.875, 2.755, 1.070, 1.455, 2.125, 1.165, 0.275, 

1.720, 1.320, 2.505 RMYF TYF VF9DF\ JF\RGF\S 5KL ,[J,G[ XLO8 SZ[, K[P AWFH 

lA\N]VMGL ;F5[1F p\RF.             R-FJvpTFZ 5wWlT  äFZF XMWL4 H~ZL TF/M D[/JMP 

5|YD lA\N]GL ;F5[1F p\RF. 100mtrs K[P 

07 

 બ GLR[GF 5NM ;DHFJM 

(i) 5zFJ,MSG   (ii) VU|FJ,MSG   (iii) T,lRCG    

(iv);F5[1F p\RF.   (v):JLS’T T,   (vi) lNXF AN, lA\N] 

 (vii):YFG 

07 

  અથવા  

 બ ;D]rIZ[BFGL ,F1Fl6STFVMG\] J6”G SZMP 07 

    પ્રશ્ન. ૩ અ TOFJT ;DHFJM 

(i)  l5|hD[8LS S\5F; VG[ ;J””[IZ S\5F; 

(ii)  5}6”J’T A[ZL\U VG[ J’T5FN A[ZL\U 

04 

03 

 બ 20m GL ;\FS/ YL DF5TF ;J[“Z[BFGL ,\AF. 840 m DF,}D 50LP RSF;6L DF8[ T[ OZLYL 

30m GL ;F\S/ J0[  DF5TF 849m DF,}D 50LP 5|DFl6T ;F\S/ ;FY[ ;ZBFJTF 20m GL 

;F\S/ 0.5  S0L JW] ,F\AL H6F.P VF DF5 DF8[ J5ZFI[,L 30m GL ;F\S/ GL ;FRL ,\AF. 

XMWMP 

07 

  અથવા  

પ્રશ્ન. ૩ અ l5|hD[8LS S\5F; GL :JrK VFS’lT NMZM VG[ T[GF H]NFvH]NF EFUMGF GFD NXF”JM VG[ 

EFUMGF p5IMU ,BMP 

07 

 બ 5ZM1F VFZ[B6 GL VFS’lT NMZL ;DHFJMP 07 

    પ્રશ્ન. ૪ અ (i)  %,[G 8[A, ;J[“1F6 SZJFGL ZLTM ,BM VG[ SM. 56 V[SG\] J6”G SZMP 

(ii)  NLS5FTSM6 5N ;DHFJMP 

05 

02 

 બ A\W DF,FZ[B6 DF8[ GLR[GF A[ZL\UGF VJ,MSG ,[JFDF\ VFjIF CTFP :YFlGS VFSQF”6 ;FD[ 

;FRF A[ZL\U XMWMP A\W DF,FZ[B6GF V\NZGF B]6F XMWMP 

Z[BF VU|A[ZL\

U 

5F`JA[ZL\

U 

07 
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AB 1080-

45’ 

2890-

30’ 

BC 10-00’ 1810-

00’ 

CD 3030-

15’ 

1240-

30’ 

DA 2260-

30’ 

440-30’ 

 

  અથવા  

પ્રશ્ન. ૪ અ %,[G 8[A, ;J”[1F6GL lNS:YF5GGL ZLTM ;DHFJMP 07 

 બ (i)   0d5L ,[J,G\] C\UFDL ;DFIMHG ;DHFJMP 

(ii)  l5|hD[8LS S5F\;G\] C\UFDL ;DFIMHG ;DHFJMP 

04 

03 

    પ્રશ્ન. ૫ અ YLIM0M,F.8 YL l1FlTH B}6M DF5JFGL ZLT ;DHFJMP 07 

 બ (i)   GLR[GF SFI” H6FJM 

 (1)  :YFGF\TZ XLQF” (2)  J8L”S, DgN RF,S :S|}  (3)  S,L5 :S|} (4)  8[,L:SM5 

(ii)   ;\S|D6LI VG[ V;\S|D6LI YLIM0M,F.8 J6”JM 

04 

03 

  અથવા  

પ્રશ્ન. ૫   GLR[GFG[ J6”JM 

(i) YLIM0M,F.8 GF p5IMUM   (ii) ;\FS/YL DF56LDF\ VFJTF VJZMWM   

(iii):YFlGS VFSQF”6  (iv);D]rIZ[BFGF GSXFGF p5IMUM 

14 

 

************ 


